Efficiency vs Dxy(PV)
1.2

iy

efficiency vs dxy(PV)

Ratio

'—25201510 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TT_base_noSel
—e— DQM_mkFit_TT_base_8iter_noSel
I Efficienc| —— DQM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

o
©

efficiency vs dxy(PV.

o
ey

o
IS

0.2]

Ratio
N
N

085S 80.6:0.407 002
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

s 1 :
o L N
§ f :
P R LA R LI PRREE
> F .
= + r
s I :
o e S A S
2 [ .
= r N
15} o .
0.6f Ll st
04:—. [ —— J: .......... [
0.2f--- e P SRR P Beeens
[ i i | i i
o+ .
5 :
24 :
L O R - o - - e
°¥p 20 10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

efficiency vs dz(PV)
o
® e

o
)

o
»




	Contents
	Page 1


